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EXAMPLE
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1. Calculate the MU from the following :

° Watch Video Solution

2. Calculate the MU from the following :

40 60 78 94 108

° Watch Video Solution



https://dl.doubtnut.com/l/_xpYOzLsBvjAc
https://dl.doubtnut.com/l/_EgHXUMv1A8wc

3. Calculate total utility (TU)

o Watch Video Solution

4. A consumer, Mr Aman is in state of
equilibrium consuming two goods X and Y ,

with given prices Px and Py.(a) What will

MUx MUy
>
X Py

happen if ? (b)What will

happen if Py falls.



https://dl.doubtnut.com/l/_EgHXUMv1A8wc
https://dl.doubtnut.com/l/_CeLJ2uESwDz4
https://dl.doubtnut.com/l/_vNkQG0xBXt8L

I D Watch Video Solution I

5. A consumer consumers only two goods X
and Y. Marginal utilities of X and Y are 4 and 3
respectively. Price of X and price of Y is Rs.3 per
unit. Is consumer in equilibrium ? What will be
further reaction of the consumer ? Give

reasons.

o Watch Video Solution



https://dl.doubtnut.com/l/_vNkQG0xBXt8L
https://dl.doubtnut.com/l/_gFsqT8tTFAjz

6. A consumer consumers only 2 goods X and
Y. The marginal utilities of X and Y is 3. Prices
of X and Y are Rs.2 and Rs.1 respectively. Is
consumer in equilibrium ? What will be further

reaction of the consumer ? Give reasons .

o Watch Video Solution

PRACTICAL APPLICATIONS


https://dl.doubtnut.com/l/_OH6W7b0EsKpp

1. Find MU from the following schedule :

Quantity Consumed 1 [ 21 3 4 5 6 l 7 g
TU (Utils) REREEEREIENEIAE AR R

° Watch Video Solution

2. Find MU from the following data :

o Watch Video Solution



https://dl.doubtnut.com/l/_jEUvb2aEuyIq
https://dl.doubtnut.com/l/_2V4OhVHIlW0b

3. Complete the following table :

50 - 120 - 150

- 40 - 20 -

S
T

o Watch Video Solution

4. Starting from initial situation of consumer's
equilibrium if price of the commodity rises ,
where  will consumer equilibrium be

determined ?

o View Text Solution



https://dl.doubtnut.com/l/_ZtHOODhWoMFD
https://dl.doubtnut.com/l/_tKGbnvOFKsv0

5. Suppose burgers sell for Rs.10 each
Shubham has already eaten 5 burgers. His
marginal utility of one rupee is 5. Should he
consumer more or stop ? Given that MU=50

utils.

o Watch Video Solution

6. Given below is the utility schedule of a
consumer for commodity X. The price of the

commodity is Rs.6 per unit. How many untils


https://dl.doubtnut.com/l/_tKGbnvOFKsv0
https://dl.doubtnut.com/l/_7D9bxthySRYV
https://dl.doubtnut.com/l/_czwctRGzycof

should the consumer purchase to maximize
his satisfaction.Given that 1 util=Rs.1.

Given reasons for your answer.

Consumption units [ 1

| |
womy | w | w | m ||

o Watch Video Solution

7. The following schedule gives the number of
ice-creams consumed and the total utility
derived from each level of consumption.Given

that the price of ice-cream is fixed Rs.2 per


https://dl.doubtnut.com/l/_czwctRGzycof
https://dl.doubtnut.com/l/_IQLLd8Akq4TC

unit, determine the optimal level of
consumption, assuming MU of a rupee is 2

utils. Give reasons.

I No. of Icecreams | 1 2 3 4 5 6 &
[TU(UﬁB) 51 9 | 121415 | 15 \ 14 Xn X

,,,,,,,

o Watch Video Solution

8. Given that income of a consumer is Rs.80,
price of x=Rs.10 per unit and price of y=Rs.10

per unit. Find consumer's equilibrium.

2| 3| & 6 ‘ 7 \ 8 \
0|98 |7 |6]|s \4
6 15| 13|12 10|09 | 7



https://dl.doubtnut.com/l/_IQLLd8Akq4TC
https://dl.doubtnut.com/l/_2W9pXC2FG8dK

I o Watch Video Solution

9. Given P, =Rs.10 and P, =Rs.40 and money
income =Rs.150, find consumer equilibrium

from

100 80 60 50
300 280 240 | 200

° Watch Video Solution

10. A consumer has total money income of

Rs.500 to be spent on two goods x and y with


https://dl.doubtnut.com/l/_2W9pXC2FG8dK
https://dl.doubtnut.com/l/_86h0LKNDR1rn
https://dl.doubtnut.com/l/_MHwYgEt94J3h

prices of Rs.50 and Rs.10 per unit respectively.
On the basis of the given information, answer
the following question :

(a)Give the equation of the budget line for
consumer.

(b)What is the value of slope of the budget
line ?

(c )JHow many units can the consumer buy if he
is to spend all his money income on good x ?
(d) How does the budget line change if there

is @ 50% falls in price of good y ?

o Watch Video Solution



https://dl.doubtnut.com/l/_MHwYgEt94J3h

11. A consumer has total money income of
Rs.250 to be spent on two goods X and Y with
prices of Rs25 and Rs10 per unit
respectivelyOn the basis of the given
information , answer the following questions :

(a) Given the equation of the budget line for
the consumer.

(b)What is the value of slope of the budget
line ?

(c )JHow many units can the consumer buy if he

is to spend all his money income on good X ?


https://dl.doubtnut.com/l/_7VJSYQKt1Dup

(d)How does the budget line change if there is

a fall in price of good Y ?

° Watch Video Solution

12. A consumer consumes two goods .His
income is Rs.50.P;=Rs.8 each and P=Rs.5 each
. Can he buy

(1)4 units of xand 3 unit of y ?

(i1)5 units of x and 2 units of y ?

(iii)Find MRS, at the point of equilibrium.

° Watch Video Solution



https://dl.doubtnut.com/l/_7VJSYQKt1Dup
https://dl.doubtnut.com/l/_q2sUxdAnqBga

13. A consumer wants to buy two goods. The
price of two goods are Rs4 and Rs.5
respectively. The consumer's income is Rs.20.
(i)Write down the equation of budget line.
(i)How much of good 1 cm the consumer
consume, if he spends his entire income on
that good ?

(ili)How much of good 2 can he consumer if he
spends his entire income on that good ?

(iv)\What is the slope of budget line ?

O Watch Video Solution



https://dl.doubtnut.com/l/_q2sUxdAnqBga
https://dl.doubtnut.com/l/_rej4i4CnVSur

14. Given that a consumer's income is Rs.40
and the two goods are equally priced at Rs.10,
identify those bundles which cost him exactly

Rs.40.

° Watch Video Solution

15. if a consumer has monotonic preferences ,
can she be indifferent between the bundles

(10,8) and (8,6) ?

| €8 |


https://dl.doubtnut.com/l/_rej4i4CnVSur
https://dl.doubtnut.com/l/_qJYL5yAO1G53
https://dl.doubtnut.com/l/_9gq97elTwayn

| ¥ Watch Video Solution J

16. A consumer has monotonic preferences .

Rank her preferences (10,10) , (9,9) and (10,9) .

° Watch Video Solution

LET US RECAPITULATE

1. A consumer's satisfaction from a commodity

iIs maximum when MU is :


https://dl.doubtnut.com/l/_9gq97elTwayn
https://dl.doubtnut.com/l/_BodyAGHUvm2b
https://dl.doubtnut.com/l/_pmHRPwAsHdXG

A. Equal to price

B. Less than price

C. More than price

D. None of these

Answer: A

o View Text Solution

2. Total utility falls when Marginal utility is

A.Zero


https://dl.doubtnut.com/l/_pmHRPwAsHdXG
https://dl.doubtnut.com/l/_4baPQb5loZiG

B. +ve

C.-ve

D. None of these

Answer: C

o View Text Solution

3. How many chocolates will you consume if

these are free of cost, to achieve equilibrium

A. MU is +ve


https://dl.doubtnut.com/l/_4baPQb5loZiG
https://dl.doubtnut.com/l/_qiFezgxCa8vT

B. MU is -ve

C. MU is zero

D. None of these

Answer: C

o View Text Solution

4. A budget set is the collection of all bundles

of goods that a consumer wants to buy

o View Text Solution



https://dl.doubtnut.com/l/_qiFezgxCa8vT
https://dl.doubtnut.com/l/_dlwFUUcnu4rr

5. A person who does not spend his entire
income on purchase of 2 goods, stays on the

Budget line.

o View Text Solution

6. Due to increase or decrease in income of a
consumer, there is a parallel rightward or
leftward shift in the Budget line, given that
there is no change in prices of good 1 and

good 2.

| & I


https://dl.doubtnut.com/l/_I12LPEhXZtet
https://dl.doubtnut.com/l/_AjGo98b4RyaW

| ¥ View Text Solution |

7. A budget set is a collection of such bundles

of goods that give same satisfaction.

o View Text Solution

8. Identify which of the following is not true
for the Indifference Curves theory. Give valid

reasons for choice of your answer.


https://dl.doubtnut.com/l/_AjGo98b4RyaW
https://dl.doubtnut.com/l/_fS29RFyCsEl3
https://dl.doubtnut.com/l/_lnAyQoA8zHD9

A. Lower indifference curve represents

lower level of satisfaction.

B. Two indifference curves can intersect

each other.

C. Indifference curve must be convex to

origin at the point of tangency with the

budget line at the consumer's

equilibrium.

D. Indifference curves are drawn under the

ordinal approach  to  consumer


https://dl.doubtnut.com/l/_lnAyQoA8zHD9

equilibrium.

Answer: A::B::C::D

o View Text Solution

1. As long as Marginal utility is positive, total

utility

A. remains constant


https://dl.doubtnut.com/l/_lnAyQoA8zHD9
https://dl.doubtnut.com/l/_EuVAiS5EVfO6

B. increases

C. falls

D. all of these

Answer: B

o View Text Solution

2. Which of the following can be referred to as

'point of satiety' ?

A. Marginal Utility is negative


https://dl.doubtnut.com/l/_EuVAiS5EVfO6
https://dl.doubtnut.com/l/_ZBb1i9U6omsm

B. Marginal Utility is zero

C. Total Utility is rising

D. Total Utility is falling

Answer: B

o View Text Solution

3. Which of the shaded area in the diagrams

below represent total utility ?


https://dl.doubtnut.com/l/_ZBb1i9U6omsm
https://dl.doubtnut.com/l/_4NvUay7x1etS

Price

Mu Units
A. consumed
Price
Mu
P
Mu Units
B . consumed
Price
Mu
P
Mu Units
C consumed
.
Price
Mu
p—
R
Mu Units
D R consumed

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_4NvUay7x1etS

4. The bundles that the consumer can

purchase by spending his entire money

income at given prices is represented by

A. budget line

B. budget set

C. consumption bundle

D. none of these.

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_KkzMCwlMn5HN

5. Slope of budget line is

A. marginal opportunity cost

B. marginal rate of substitution

C. market rate of exchange

D. all of these

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_rQHPeLZOLeTJ

6. An indifference curve is

A. convex to the origin

B. concave to the origin

C. a straight line curve

D. none of these

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_exUKUkJlpIrj

7. An indifference schedule represents various

bundles that give level of satisfaction

A. unequal

B. equal

C. zero

D. none of these

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_O1Az5SYHZ77a
https://dl.doubtnut.com/l/_WsHUskmCDm8z

8. If a consumer has monotonic preferences,

which bundle would be preferred by him ?

A. (12,8)

B. (12,12)

C.(10,6)

D. (8,12)

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_WsHUskmCDm8z

9. The equation of budget line is:

A.P1£B1—|—P2.’132 :M

B.P1£C1—|—P2CL’2 SM

C.Pix;i + Pyxy > M

D. none of these

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_JVK5o6tXQsQK

10. If MRS is increasing throughout the

indifference curve will be

A. downward sloping convex

B. downward sloping concave

C. downward sloping straight line

D. upward sloping convex

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_dugJtjRZapqF
https://dl.doubtnut.com/l/_U2jPjYYOTzLc

11. Consumer equilibrium through indifference

curve analysis is based on

A. cardinal utility

B. marginal utility

C. ordinal utility

D. none of these

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_U2jPjYYOTzLc

12. A consumer prefers to buy more of 'Y' as

compared to 'X' when :

A MUy = Py
B.MUx > Px
M
¢ MUx - MUy
Px Py
M
p, MUx MUy
Px Py
Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_t50idKhCNKsC
https://dl.doubtnut.com/l/_TNsm36nAoq7u

13. The situation of consumer's disequilibrium

MU MU
X o Y

arise :
Px Py

A. due to increase in consumption of good

B. due to increase in price of good X

C.due to decrease in price of good Y

D. due to increase in price of good Y

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_TNsm36nAoq7u
https://dl.doubtnut.com/l/_N4ig3MJWHYMH

14. As per determination of consumer's

equilibrium theory, in order to arrive at

consumer's equilibrium consumer can

A. decrease the price of the commodity

B. increase the price of the commodity

C. change the quantities of both the goods

D. increase the consumption of both the

goods

Answer: C



https://dl.doubtnut.com/l/_N4ig3MJWHYMH

L View Text Solution J

OBJECTIVE

1. How is total utility derived from marginal

utility

o View Text Solution

2. What is consumer equilibrium ?

o View Text Solution



https://dl.doubtnut.com/l/_N4ig3MJWHYMH
https://dl.doubtnut.com/l/_o53P8Z43iSvT
https://dl.doubtnut.com/l/_0JJiT2SfR0tU

3. What is Marginal rate of substitution (MRS)?

o View Text Solution

4. What is total utility at zero level of

consumption ?

o View Text Solution

5. What is MU when TU is maximum ?

o View Text Solution



https://dl.doubtnut.com/l/_XuCW8o2jtech
https://dl.doubtnut.com/l/_GRJbORnRQmLa
https://dl.doubtnut.com/l/_0WHddetsyZ2D

6. State the conditions of consumer
equilibrium in case of indifference curve

approach

o View Text Solution

7. What do all points indifference curve

indicate ?

o View Text Solution



https://dl.doubtnut.com/l/_0WHddetsyZ2D
https://dl.doubtnut.com/l/_EIDkCbDjtJGx
https://dl.doubtnut.com/l/_PSolEacFw6X3
https://dl.doubtnut.com/l/_VUW2DgrzyZMi

8. Give equation of the budget line.

o View Text Solution

9. Give equations for budget set and budget

constraint.

° View Text Solution

10. How does the budget line change if

consumer's income increases from Rs.20 to


https://dl.doubtnut.com/l/_VUW2DgrzyZMi
https://dl.doubtnut.com/l/_fEYNvn89gawS
https://dl.doubtnut.com/l/_gwkFWEpmkOPN

Rs.40, given that prices of both the goods

remain unchanged ?

° View Text Solution

CONCEPTUAL

1. What is ordinal utility ?

° View Text Solution

2. What is cardinal utility ?


https://dl.doubtnut.com/l/_gwkFWEpmkOPN
https://dl.doubtnut.com/l/_IVBMN9YMFWjb
https://dl.doubtnut.com/l/_MJEuFGByv8mi

° View Text Solution

3.When a consumer has got equality between
marginal utility and price for a good, what is

this condition known as ?

° View Text Solution

4. Why is indifference curve convex to the

origin ?

o View Text Solution



https://dl.doubtnut.com/l/_MJEuFGByv8mi
https://dl.doubtnut.com/l/_kiPs7koy6Ro6
https://dl.doubtnut.com/l/_Gp5lYGe45PHO

5. State law of diminishing marginal utility.

o View Text Solution

6. "TU remains same always irrespective of

change in MY". Defense refute

° View Text Solution



https://dl.doubtnut.com/l/_Gp5lYGe45PHO
https://dl.doubtnut.com/l/_F5D65r7GRvor
https://dl.doubtnut.com/l/_rJkJnGYXMsWw

7. Suppose a consumer can afford to buy 6
units of good 1 and 8 units of good 2, if she
spends her entire income. The prices of two
goods are Rs.6 and Rs.8 respectively. What is

the consumer's income ?

o View Text Solution

8. Can a consumer go beyond the budget line

?

° View Text Solution



https://dl.doubtnut.com/l/_H2qWFj2wUmnU
https://dl.doubtnut.com/l/_qgc5RxpgJcVg

HOTS

1. How many units of a commodity will you

consume, if you don't have to pay any price for

it?

o View Text Solution

2. Starting from initial situation of consumer

equilibrium, if price of the commodity rises,


https://dl.doubtnut.com/l/_qgc5RxpgJcVg
https://dl.doubtnut.com/l/_4vdocs4jvS6v
https://dl.doubtnut.com/l/_BeupY66AH6jn

where  will consumer equilibrium be

determined ?

° View Text Solution

3. What happens to the budget set and
budget line if both the prices as well as the

income double ?

° View Text Solution



https://dl.doubtnut.com/l/_BeupY66AH6jn
https://dl.doubtnut.com/l/_nqhYijpDEehq

4. Higher indifference curve represents higher
level of satisfaction to the consumer'. Explain
The statement also state the underlying
assumption related to this property of

indifference curve

o View Text Solution

5. Explain why an indifference curve is convex

to the origin ?

° View Text Solution



https://dl.doubtnut.com/l/_N4bIlKse6Odn
https://dl.doubtnut.com/l/_X1ZOxl87A3hG

VALUE BASED

1. (i)Determine the quantity of apples a

consumer would buy at a given price in the
market. Use cardinal utility analysis
(i) What quantity of apples would he consume

if apples are available free of cost?

o View Text Solution



https://dl.doubtnut.com/l/_X1ZOxl87A3hG
https://dl.doubtnut.com/l/_Ox84XvOl6p6W

2. What is the implication of budget line in a

real life situation ?

o View Text Solution

3. Govt. of the country imposes tax on petrol
usage by the people, what impact will this
have on budget line of a consumer showing
consumption of two commodities petrol and
food items on it? What is policy implication

behind tax imposition ?

| & I


https://dl.doubtnut.com/l/_IHwfMUT6ptpN
https://dl.doubtnut.com/l/_nvGxp2GPqAdT

| ¥ View Text Solution |

4. Mr. Goyal has a budget of Rs.1,00,000 which
he plans to spend on sweets and crackers on
Diwali. He actually spent Rs.1,25,000 because of
more expenditure on crackers. How will you
show his planned expenditure and actual
expenditure through budget line? Is this over

expenditure justified ?

o View Text Solution



https://dl.doubtnut.com/l/_nvGxp2GPqAdT
https://dl.doubtnut.com/l/_5eFZBG8EFbZk

NCERT

1. What do you mean by the budget set of a

consumer ?

o View Text Solution

2. What is budget line?

o View Text Solution



https://dl.doubtnut.com/l/_fokDcUm15Xpy
https://dl.doubtnut.com/l/_NHcWUIn8R66y

3. Explain why the budget line is downward

sloping

o View Text Solution

4. A consumer wants to consume 2 goods.
Prices of goods are Rs.4 and Rs.5 respectively
The consumer's income is Rs.20

(i) Write down the equation of budget line.
(i)How much of good 1 can the consumer

consume if she spends her entire income on


https://dl.doubtnut.com/l/_RjERSn8MP98H
https://dl.doubtnut.com/l/_p5SuQZBZsuS5

that good?
(ili) How much of good 2 can she consume if
she spends her entire income on that good?

(iv) What is slope of the budget line ?

o Watch Video Solution

5. What happens to the budget set if both the
prices as well as income double given that

P,=Rs.4, P,=Rs.5, M=Rs.20 ?

o Watch Video Solution



https://dl.doubtnut.com/l/_p5SuQZBZsuS5
https://dl.doubtnut.com/l/_rgZEN0BWhrpA
https://dl.doubtnut.com/l/_MNj2sYlu4KG3

6. What do you mean by monotonic

preferences ?

o View Text Solution

7. If a consumer has monotonic preferences,
can she be indifferent between the bundles

(10,8) and (8,6) ?

o Watch Video Solution

VERY SHORT



https://dl.doubtnut.com/l/_MNj2sYlu4KG3
https://dl.doubtnut.com/l/_VJL3ikBDCfue

1. Define utility

o View Text Solution

2. Define marginal utility.

o View Text Solution

3. Define budget set

o View Text Solution



https://dl.doubtnut.com/l/_exbQrjran1Kd
https://dl.doubtnut.com/l/_TKXV1Nl8GBcl
https://dl.doubtnut.com/l/_oXJLCyaFjuUX

4., Define indifference curve/indifference map

o View Text Solution

5. Define a Budget line

o View Text Solution

6. What is meant by monotonic preferences ?

o View Text Solution



https://dl.doubtnut.com/l/_oXJLCyaFjuUX
https://dl.doubtnut.com/l/_kLXAVV2h3jWh
https://dl.doubtnut.com/l/_H97yYjd0Rhgw
https://dl.doubtnut.com/l/_2Rz8FdAgvmen

7. Define slope of TU curve.

o View Text Solution

8. Define slope of budget line.

o View Text Solution

9. Define slope of indifference curve.

o View Text Solution



https://dl.doubtnut.com/l/_2Rz8FdAgvmen
https://dl.doubtnut.com/l/_q4H3pJ3y4qZV
https://dl.doubtnut.com/l/_1B9JRRe5fEGV
https://dl.doubtnut.com/l/_bkNrYPXZFcMZ

10. How is TU derived from MU ?

o View Text Solution

11. What is consumer's equilibrium ?

o View Text Solution

12. What is MU when TU is maximum ?

o View Text Solution



https://dl.doubtnut.com/l/_bkNrYPXZFcMZ
https://dl.doubtnut.com/l/_ZvZclfPDe4cR
https://dl.doubtnut.com/l/_pnEeOocR4OIh
https://dl.doubtnut.com/l/_WTqJXIOYwa7G

13. State the law of diminishing marginal

utility.

o View Text Solution

14. Give consumers optimum condition in case

of one good/two goods using utility approach

o View Text Solution



https://dl.doubtnut.com/l/_WTqJXIOYwa7G
https://dl.doubtnut.com/l/_bZPgCNztGHfQ
https://dl.doubtnut.com/l/_8rHfoHkR47tp

15. Give consumer's optimum condition from

indifference curve approach

o View Text Solution

16. What is law of diminishing marginal utility

?

o View Text Solution

17. Define indifference curve.



https://dl.doubtnut.com/l/_upAmGrvWtnBH
https://dl.doubtnut.com/l/_K0GG7M4cvrGI
https://dl.doubtnut.com/l/_JjXqMWYyFp5A

o View Text Solution

18. When is a consumer said to be rational ?

o View Text Solution

SHORT ANSWER

1. Define marginal utility. State the law of DMU

° View Text Solution



https://dl.doubtnut.com/l/_JjXqMWYyFp5A
https://dl.doubtnut.com/l/_yodtq7rTUzAD
https://dl.doubtnut.com/l/_TEbBVsFSIvBy
https://dl.doubtnut.com/l/_iNShkdqQfCwX

2. What is consumer's equilibrium ? State its

condition in case of a single commodity

o View Text Solution

3. Define utility. Explain the relationship
between TU and MU curves

Or

Define utility Explain the law of DMU

Or

Explain the law of DMU with the help of an

example.


https://dl.doubtnut.com/l/_iNShkdqQfCwX
https://dl.doubtnut.com/l/_BcJM9V1s2JOi

Or
Explain the law of diminishing marginal utility

using TV schedule.

o View Text Solution

4. CONSUMER\'S EQUILIBRIUM  (SINGLE

COMMODITY CASE)

° Watch Video Solution



https://dl.doubtnut.com/l/_BcJM9V1s2JOi
https://dl.doubtnut.com/l/_EuldKNiiFeqc

5. CONSUMER\'S EQUILIBRIUM (TWO

COMMODITY CASE)

o Watch Video Solution

6. CONSUMER\'S EQUILIBRIUM BY

INDIFFERENCE CURVE ANALYSIS

o Watch Video Solution



https://dl.doubtnut.com/l/_jkbRIkWu5IPk
https://dl.doubtnut.com/l/_CvJQDUt7OPgn

7. Explain three properties of indifference

curve

° View Text Solution

8. What will happen to budget line when :
(a) Price of good 1in rises
(b) Price of good 2 falls

(c) Money income of the consumer rises

o View Text Solution



https://dl.doubtnut.com/l/_BXMYYauwGAnq
https://dl.doubtnut.com/l/_CGCACuj8WJr3
https://dl.doubtnut.com/l/_nHGGKCWZS4xW

9. A consumer, Mr Aman is in state of
equilibrium consuming two goods X and Y ,

with given prices Px and Py.a) What will

MUy MUy
>
X Py

happen if ? (b)What will

happen if Py falls.

o Watch Video Solution

10. Derive the law of demand from the single
commodity equilibrium condition

"marginal utility-price"

o View Text Solution



https://dl.doubtnut.com/l/_nHGGKCWZS4xW
https://dl.doubtnut.com/l/_BO8kpcewTaV4

11. A consumer consumes only two goods X
and Y. MU of X and Y are 3 and 4 respectively.
Prices of X and Y are Rs.4 per unit each. Is
consumer in equilibrium ? What will be further

reaction of the consumer ? Give reasons

o Watch Video Solution

12. CONSUMER\'S EQUILIBRIUM BY

INDIFFERENCE CURVE ANALYSIS

| = 1


https://dl.doubtnut.com/l/_BO8kpcewTaV4
https://dl.doubtnut.com/l/_ciIthZoV7Vsm
https://dl.doubtnut.com/l/_F8PE3owliBEx

I &9 Watch Video Solution I

13. Why is an indifference curve negatively

sloped ?

o View Text Solution

14. Explain the meaning of budget set and

budget line

° View Text Solution



https://dl.doubtnut.com/l/_F8PE3owliBEx
https://dl.doubtnut.com/l/_FRgIli36CNqj
https://dl.doubtnut.com/l/_6f02iWzWcu4R
https://dl.doubtnut.com/l/_a62QptEboinD

15. Explain the meaning of budget line. What

can cause a change in it

o View Text Solution

16. How will decrease in price of 'X' affect
consumer equilibrium when the consumer

consumes two goods X' and 'Y ?

o View Text Solution

LONG ANSWER



https://dl.doubtnut.com/l/_a62QptEboinD
https://dl.doubtnut.com/l/_LprS10cnH816

1. Explain the shift in budget line.

o View Text Solution

2. CONSUMER\'S EQUILIBRIUM  (SINGLE

COMMODITY CASE)

o Watch Video Solution

3. MEANING AND ASSUMPTIONS OF

INDIFFERENCE CURVE



https://dl.doubtnut.com/l/_EPcn3YZuJU3U
https://dl.doubtnut.com/l/_PFMYDnCS33UK
https://dl.doubtnut.com/l/_NGm3Zrq9A7Fv

o Watch Video Solution

4. CONSUMER\'S EQUILIBRIUM BY

INDIFFERENCE CURVE ANALYSIS

o Watch Video Solution

5. A consumer consumes only two goods, For a
consumer to be in equilibrium, why must MRS

be equal to the ratio of prices of two goods

o View Text Solution



https://dl.doubtnut.com/l/_NGm3Zrq9A7Fv
https://dl.doubtnut.com/l/_IBFZkMw3ZT4J
https://dl.doubtnut.com/l/_qZWFqQQ7zRRC

6. Explain the following

(@) Why is an IC (i)downward sloping (ii)
convex.

(b) Why does higher IC represent a higher

level of satisfaction ?

o View Text Solution

7. Complete for MU Also show relation

between TU and MU diagrammatically using


https://dl.doubtnut.com/l/_qZWFqQQ7zRRC
https://dl.doubtnut.com/l/_YNUV8lhsvdcY
https://dl.doubtnut.com/l/_PxwmEKLtqz1Y

the values from this table

46 50 53 53 50

o Watch Video Solution

8. CONSUMER\'S EQUILIBRIUM

INDIFFERENCE CURVE ANALYSIS

° Watch Video Solution



https://dl.doubtnut.com/l/_PxwmEKLtqz1Y
https://dl.doubtnut.com/l/_vnw2hHhEQtxk

9. (a) What is a budget line ? What does the
point on it indicate in terms of prices?

(b) A consumer consumes x and y. Her money
income is Rs.24 and the prices of x and y are
Rs4 and Rs.2 respectively. Answer the
following questions:

(i) Can the consumer afford a bundle 4x and
5y?

(i) What will be MES,,, when the consumer

is in equilibrium ? Explain.

o Watch Video Solution



https://dl.doubtnut.com/l/_D79SlRXM1esz

10. What are monotonic preferences ? Explain
why is an IC (i) downward sloping and (ii)

convex

o View Text Solution

11. A consumer consumes only two goods X
and Y both priced at Rs.2 per unit. If the
consumer chhooses a combination of the two
goods with Marginal Rate of Substitution

equal to 2, is the consumer in equilibrium ?


https://dl.doubtnut.com/l/_qaeauipEwa7j
https://dl.doubtnut.com/l/_SAtfGryg7pcU

Why or why not ? What will a rational

consumer do in this situation ? Explain.

o Watch Video Solution

12. A consumer consumes only two goods X
and Y whose prices are Rs.5 and Rs4
respectively. If the consumer chooses a
combination of the two goods with marginal
utility of X equal to 4 and that of Y equal to 5,

is the consumer in equilibrium ? Why or why


https://dl.doubtnut.com/l/_SAtfGryg7pcU
https://dl.doubtnut.com/l/_nDCIeBRNjqQE

not what will a rational consumer do in this

situation ? Use utility analysis.

° Watch Video Solution

13. Explain the three properties of the

indifference curves.

o View Text Solution

UNSOLVED NUMERICALS


https://dl.doubtnut.com/l/_nDCIeBRNjqQE
https://dl.doubtnut.com/l/_Wram9vavfi4E

1. Derive MU from Total Utility Schedule given

below :

° Watch Video Solution

2. An individual's MU schedule is given below.

Derive total utility from it.

16 12 10 8 0 -4 -

° Watch Video Solution



https://dl.doubtnut.com/l/_RzfpDvq3jj1N
https://dl.doubtnut.com/l/_GWHAQfVcURfx

3. Let price of a commodity X be Rs. 10.
Marginal utility (in terms of money for 5 units

is given as

16 10 4 2 1 ‘

How many units should a consumer purchase,

so that his satisfaction, is maximum ?

° Watch Video Solution



https://dl.doubtnut.com/l/_GWHAQfVcURfx
https://dl.doubtnut.com/l/_SX4WojZm2QwH

4. Utility schedule of a consumer is given as :

w | s |8 | e | 4

If the given commodity is sold for Rs.4 and MU
of one rupee is 2 utils, how many units will a
consumer purchase to maximise his

satisfaction ?

° Watch Video Solution

5. Following is the MU schedule for goods X

and Y. Both the goods are priced at Rs.1 and


https://dl.doubtnut.com/l/_SqAKyvoRcZlT
https://dl.doubtnut.com/l/_1cavJotzNtML

money income of an individual is Rs.5. How
many units of both commodities should he

purchase to maximise his total utility ?

o Watch Video Solution

6. The MU schedule for goods A and B is given .
Price of both the goods is Rs.l each and
income of Mr. Narendra is assumed to be Rs. 6.
How many units of both the goods should be

purchased by him so that his total utility is


https://dl.doubtnut.com/l/_1cavJotzNtML
https://dl.doubtnut.com/l/_CtieHugaHhDw

maximised ?

14 12 10 6 4 2 |
13 12 10 3 2 1 ]

° Watch Video Solution

7. Suppose a consumer can buy 6 units of
good A and 2 units of good B when he spends
his entire income. Price of good A is Rs.10 and
that of good B is Rs.8. Calculate money income

of consumer.

° Watch Video Solution



https://dl.doubtnut.com/l/_CtieHugaHhDw
https://dl.doubtnut.com/l/_kqGiO7pbEnXq

8. Let there be three bundles containing good
X and Y , Bundle (20,10) , Bundle (20,20) and
Bundle (8,20). If a consumer has monotonic

preferences, which bundle will be preferred by

him ?

o View Text Solution



https://dl.doubtnut.com/l/_kqGiO7pbEnXq
https://dl.doubtnut.com/l/_BE1YOIbA7hzv

